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AIR HEATING AT ITS MOVEMENT ALONG  

CHANNELS IN SYSTEMS WITH THE INDIVIDUAL  

AIR SUBMISSION IN PREMISES

A b s t r a c t

Derived is the equation to calculate the heating of an air stream along the channels. It can be used to more accurately 
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4. Conclusions 

channel will result in more precise calculations and 

References

Wymiana powietrza w wielorodzin-

nych budynkach mieszkalnych przy zastosowaniu in-

dywidualnego systemu nawiewnego

W Podstawy

wymiany ciep a



38

-

-

-

-

-

 

-

-

-

t = f (

z -

-

-

t = f (

-

m = a i b

-

z

F = a + b -

-

t(

z

( -

t
cp

( -

t

t

z

F = a + b

l
n

l

z z
n

z z

z

n

a  = G G -

-

-



39

-

-

(

-

(

-

-

t(

t t( ( dt( – d (

-

-

( -

t
H
 = – o -

-

t  = + o -

-

d -

 G

l

F = 

t t
c l G t t

F x t t c l G
x <

H

H

=
= −

⋅ ⋅ ⋅ −

⋅ ⋅ − + ⋅ ⋅ ⋅( )
=

= −
⋅

5

3

3
3

3

3

5
3 100

Π
Π

Π

( ) ( )

(

A

00 20 0 005 5 20

1 98 6 28 5 5 20 3 1000 20 0 005

3

3

⋅ ⋅ − −

⋅ ⋅ ⋅ − − + ⋅ ⋅ ⋅

, ) ( ( ))

, , ( ) ,(( )
=

= −
⋅

+
= −

⋅
=

= − = −

3

3

3

3

3
5

300 25

181 79 300
5
300 25

481 79

5 6 04 1 0

( , ) ,

, , 44°C

-

t| o

t| o

4. Wnioski

-

-


